&AREEHINDIR
SET — 4

Series : TYM I .
%135
Je A, ode No.
Roll No. wlerefl ie 1 IT-Yiedehl & T@-T53 W
a3 forg |

Candidates must write the Code on the
title page of the answer-book.

o FUNAGHAIFTIA-AAYFATS 82 |

o T-TA U Ifer BT <l 3T e T Shre e i BT I -YfEieh! & JE-I8 W ford |

o T SIG BT foh U THA-TAH 34 A E |

o PUT I B I TG L& FW A U5, T Bl 5hH1h 3wy ford |

o  IUYH-TUA I UeH o 1T 15 firte <1 ww feam w2 | wod-va 1 forawor gate # 10.15
ool foham ST@W | 10.15 S & 10.30 S dh BT healcl Y31-U b1 UG 37 37 3G &
R o 3T -YFETehT T g IR &1 o1 |

o Please check that this question paper contains 8 printed pages.

° Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

] Please check that this question paper contains 34 questions.
o Please write down the Serial Number of the question before attempting it.

° 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
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General Instructions :

135

(i)  All questions are compulsory.
(ii)  Questions from serial number 1 to 10 are Multiple Choice Questions carrying one

mark each. You have to write the correct option in your answer-book.

(iii) Marks allotted to other questions are indicated against each of them.

FfcTRaa © 9 98 T ofia Wie T8 8 1
(31) Sl T KT IS |

(=) el grr ooft < |

GIRRETEIR I}

@ U vl grf sl S & at

This one of the following is not a capital receipt :
(a) raising of bank loan

(b) capital contribution by the owner

(¢) rentreceived

(d) money received from the sale of a fixed asset

Teh TRft T bl UTed S o foTw feharm oI SiTa B | 1
(31) T ST =

(&) Teh ITRTd &

(@) TH TN SR

(@) T A HE T

A payment made for acquiring a fixed asset is

(a) acapital expenditure (b) arevenue expenditure
(c) . adeferred revenue expenditure (d) None of the above
FefcTRea il # 9 36 W qoag ™ T8l ST STe 1
(37) == @) HfR @) W @ &
Out of the following assets depreciation will not be charged on
(a) Machine (b) Furniture (¢) Stock (d) Utensils
2
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T Gt < HougTH i ThH hi TUMT i ol Jg T T hidl 1
(37) Fufa 6l AN (§) HuRd &l 31y

(F) Gurd 1 ISR Jod (@) TFIfd 1 TR I

This does not affect the calculation of the amount of depreciation of an asset :

(a) cost of asset (b) life of asset

(c) market value of the asset (d) residual value of the asset

Teh Sieh THTHT Toreor ST ST 2 3949 /399 <hi T8 Uffs <t g 4 1

(37) S UTH Feh 3TN hI o b Sioh WFH H

(&) e U b 3T HI T b Uhs T F

@) 3 ¥ T T 3R i T

(T) had Seh ITE g H

A bank reconciliation statement is prepared with the help of entries made in —
(a) Bank pass-book and Bank column of the cash book

(b) Bank pass-book and Cash column of the cash book

(¢) Cash column and Bank column of the cash book
(d) Only bank pass-book

U fafm v o ugrehnl <l T Bl B 1
(30) 2 ® 3 @ 4 @ 5

The number of parties in a bill of exchange is :

(a) 2 (b)) 3 (c) 4 (d 5

=1 5 | 718 T IR 1 Gu 1 ¢ & - 1
(31) THER (®) &R (®)  TE @ o sfefed
This one of the following is an example of business asset

(a) Creditors (b) Debtors (c) Drawings (d) Bank Overdraft
NICRIERCIGIRECICIEE 1
() YgAH (@) FHA A @) (@) TS

Profit and loss A/c shows :

(a) Net profit (b)  Gross profit (c) Liability (d) Gross loss
freaferfiaa § & gl a1l e fiehTs T@ 9 i <) wWTeT 2 - 1
(31) ufereh ferfiree oeft (@) wmgae ffs Hu

(H) Bl gwA (7) forwmii woer

In this of the following there is greater possibility of maintenance of incomplete
accounting records.
(a) Public Ltd. Co. (b) Private Ltd. Co.
(¢) Small Shop (d) Departmental Store
3 [P.T.O.
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10. 3R 1S 73 Yoit T s 78 B 37 37a i St iRk deft & 3rfires &, i =g Starar 1
(30) @Y @) =
(") | A A &I @ o W=

If there is no introduction of fresh capital and closing capital is greater than opening
capital then it denotes

(a) Profit (b) Loss
(¢) No profit no loss (d) Nothing

11. HoIsTd ol TR HRT | 2
Define depreciation.

12. 31 S I shige deh I FIT AT & 7 2
What does the credit bank balance of cash book imply ?

13. % gy fqero =g ? 2
What is bank reconciliation statement ?

14, feufa foewo =i sAmn ST g 7 2
Why is statement of affairs prepared ?

15.  3ARATd TEET o < IETeT 3R YSiTa wiel o < 3gTetvr €T | 2
Give two examples of revenue receipts and two examples of capital receipts.

16. Tafm= o %1 3TN T % IS & AT AT | 2
Give any two advantages of using a bill of exchange.

17. 370l Fehi W@ <l is dIF BRI Saisy | 3

State any three disadvantages of keeping incomplete records.

18.  Teh S 1 YSTNTA 1S STATA o Y H ST HEAT T Shedl g 7 3
Why is it necessary to distinguish an expenditure as capital or revenue ?

19. h31 % 1 AN AT IR | SIS A oI -¢7 FarsC [ehl T 3ad sieh e foawor samd
T U §5h T A UM o forw At st | 3

Cash Book Balance is given. State any three transactions the amount of which will be
added to get pass book balance while preparing Bank Reconciliation statement.

20. S <l UE o T 4,500 1 Sfee ST fe w7 3R U wEd 7 WY S0 §% @ 5
% 2,000 ST L TS ST <631 g H S 781 6 MU 2 | SAT9eh! H31 e o STAR AT R18 7 3

The pass book shows a debit balance of ¥ 4,500 and a customer has directly deposited
% 2,000 in your bank account which has not been recorded in the cash book. What is the
balance as per your cash book ?
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21. U fafma o= o 1E 9 3Ta9deh 18707 §dTsy | 3

Give any three essential features of a bill of exchange.

22.  TfiId 37T ¥ T2 7 Ueh 3e18W0 ST | 3

What is deferred revenue expenditure ? Give one example.

23, THUS EH I 1 SHadl, 2014 i % 20,000 H H1=R Tliel | 38R STANT S{iad 4 T & 3R
HETE e I 2 | QTR Geagd Hieft [@m gfal & omeT ITedm 2 | 4 I ol e T=l @rar
fe@mu | @ Ay 31 foawer 1 o fhr S 2 | 4

Ram & Sons bought furniture for ¥ 20,000 on 1% January 2014. Its useful life is 4 years
with nil scrap value. The accountant wants to provide depreciation on straight line
method. Show furniture A/c for 4 years. Accounts are closed on 31% December each
year.

24.  hY g IR I b o NI H TR 3T o hIs TR HRU FATST | 4

State any four causes of difference in the balances of Cash book and Pass book.

25. fesam I 9T A1 1-1-2016 1 T 10,000 1 71T 3UR =1 | feean 3 30 w9 & fow @diy
T W& o1 foret foran | v 3 foe TR ot forem | e <6t fafor = foe o1 yam fire
T | fee o s § wfafde Hif | 4
Divya sold goods for ¥ 10,000 to Sandeep on credit on 1-1-2016. Divya drew a bill of

exchange upon Sandeep for the amount for three months. Sandeep accepted the bill. On
the due date the bill was met. Give entries in the journal of Divya.

26. fafma oa s a2 ¢ 38 U Urey ST | 5

What is a bill of exchange ? Give a specimen thereof.

27. (37) G Y I BT © ? $HehI MU fohd Jeh 3hl ATl 8 2 2
@) T a31 femar 2017 = a9 g9 9t 99 & T Ay -7 @ s - 3
4
Tehel o1y 70,000
Ia fean 20,000
forsreft 15,000
eAT®H =1 =™ 5,000
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(a) What is Net profit ? How is it calculated ?
(b) Prepare profit and loss A/c from the following for the year ending 31%' December
2017.
3
Gross Profit 70,000
Salaries paid 20,000
Electricity 15,000
Telephone expenses 5,000
EA Tl O BT TR <hi STl h! THFATST | 5

Explain the need for charging depreciation on assets.

R @Td H 3 areft f=faRad wel sl qussy : 5

(1)

TR T2Teh (ii) o AmEi(iii) Torshar et (iv) 3ifam i (v) Jehet oy

Explain the following items appearing in a Trading Account :

(1)

Opening Stock (i1) Purchases Return (iii) Sales Return (iv) Closing Stock

(v) Gross Profit

(31) @™ 3 T 20,000 T T TG | 38k IE T 8,000 T TRIWTH Wik AT | 30 357 &

)

(2)

(b)

FY A1 T 30,000 H 5= T 3R % 5,000 AT 61 HeA for1 foreht @ T | W@ g
Sl 7T HTE <h TR HehTferd | 3

% 1,50,000 H Ush gt T @lE TRt 3R g & T 25,000 IHeh! T W @ fohu
T | AU 1 I8 HF AR 1 AN § ST ST AT ATH-31 @rd # Sfere foman
ST | 2
Shyam purchased goods for I 20,000. He had an opening stock of ¥ 8000. He

sold some of the goods for ¥ 30,000 and goods costing ¥ 5000 remained unsold.
Calculate the cost of goods sold by Shyam.

A second hand machine was purchased for ¥ 1,50,000 and immediately a sum of
T 25,000 was spent on its repair. Will this amount of repair be added to the cost of
machine or debited to profit & loss A/C ?

6
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Prepare Balance Sheet as on 31% December, 2017 from the following :

3
tb—ﬁ 2,50,000
TG IR dh 50,000
BT 1,00,000
TeR 70,000
R 80,000
AT 20,000
T bl I1H 30,000
Haq 1,20,000

3
Capital 2,50,000
Cash and Bank 50,000
Furniture 1,00,000
Debtors 70,000
Creditors 80,000
Drawings 20,000
Profit of the year 30,000
Building 1,20,000

IV' CAREERINDIA

TRt el ot BT o <t foheet a1 farferri ot TmensT | AR T a gl s i saET | 6

Teh IR 9 1 S 2015 =61 T 5,50,000 | Tk TRfiF @l 3T 35k TI9 ° T 50,000
T R | 98 Hoagm 30% 1 @ | ed /F1d qed Ughd o 1IN oTHT 9Tedt ® | o
g1l &1 7efie @l fewrsu | @rd gfd a9 31 fearsw ol s fpu Sa 8 |

Explain any two methods of charging depreciation on fixed assets. Give their merits and
demerits also.

A trader bought a machine for ¥ 5,50,000 on 1* January 2015 and spent ¥ 50,000 on its
errection. He wants to provide depreciation at the rate of 30% on written down value
method. Show machine account for three years. Accounts are closed on 31% December
each year.

[P.T.O.
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33, ot UM foeror s hl HRIETE i guesy | W faawen §9E % foT 3 @ SR
T DU ? 6
YT
ABC f&1. % 1 a2 & 3MER W 31-12-2017 o foTC sfeh Fumem forsmor 15w -
(i) h3 T o FTER S A9 T 62,500.
(ii) =k ek W ST 3T W 31-12-2017 o shie< & g7  8,900.
(i) < ST 3T T YT o feTT 31-12-2017 b TG & 8371 T 12,500.
(iv) S 3 ST ITTH o foTu shfge fomam € 5,000
(v) 3 ¥ g9R o feru Sfere foham T 400.
Explain the procedure of preparing a Bank Reconciliation statement. What information
will you collect to prepare such statement ?
OR
From the following particulars of ABC Ltd., prepare bank reconciliation statement on
31-12-2017.
(i)  Bank balance as per cash book % 62,500.
(i) Cheque deposited into bank but not credited upto 31-12-2017 I 8,900.
(iii) Cheque issued but not presented for payment till 31-12-2017 ¥ 12,500.
(iv) Bank credited ¥ 5,000 receiving dividend.
(v) Bank charges debited by bank ¥ 400.

34, 991 9 e %t Torshar o1 oy A1 &1 1 HifSe 6
Z
() et % I& hH G 60,000
(i) &TeT o 31§ Pl gEATerEt 1,06,000
(iii) et % 37 o ot Ty 53,000
(iv) Tt grT ATet WX U 1S T8 SAferierd ot 5,000
(V) el 9T AW 20,000
(vi) &t g el @IT T 1,000
HAYgET

feufd foe s @ ? Jg gem-Tm a ohe =T 7

Calculate profit or loss made by a fruit seller from the following :

i
(i)  Capital in the beginning of the year 60,000
(i1) Total assets at the end of the year 1,06,000
(iii) Total liabilities at the end of the year 53,000
(iv) “Additional capital brought in by the proprietor during the year 5,000
(v) Drawings during the year 20,000
(vi). Fruits consumed by the proprietor 1,000

OR
What is the statement of affairs ? How is it different from balance sheet ?
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